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Unit One Daily Life
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Your cell phone was turned off
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She bought quite a few pieces of handicraft
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1. ZhSBHA“T”: S+V+ T +0 The aspect particle “ T ”: S+V+ T +0
2.V T V The structure “V T V”
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| want to rent an apartment
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1.V, T oo B Voyeeeoes The structure “V; [ == i Vyeeeeee

2. SRS A EAERER : V/VP +i)+ N/NP

A verb or a verbal phrase functioning as an attributive: V/VP+HJ+N/NP
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Let’s go out to eat in a restaurant
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2. dminl: “UR”FN“F”  The verb-measure word: “YK” and “F”
3. RliA]“# 2" The adverb “iASE"
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Unit Two Campus Life
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|’ve been watching TV the whole evening
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1. BT B3R5 The expression of a period of time
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The expression of the length of time an action lasts
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Could you help me find a language partner
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1. BEELH3R3KX  The expression of approximate numbers
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e L A e it SRR RO S S O R SRR 89
| didn’t get up until seven fifty
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3. i JL/Z+8&E  The structure “%JL/Z2 + numeral measure word”
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There are probably quite a few questions that were answered
incorrectly
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3. 255 4%ME 3. V43| The resultative complement 3: V+Z|
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Unit Three Transportation and Travel
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The vacation will come right after the examination
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Taking the airplane is only dozens of yuan more expensive
than taking the train
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Which places have you been to
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Where were these pictures taken
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